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GENERAL ST UDIES hedule &) Rightto Hducation
1. Under which list of the Seventh & Sche i d) Rightto E imployment ¥
is the subjec How many languages are listed in 8

of the Indian Constitution 1
“Education’ listed? schedule of the Indian Constttut(on .

-"a) - Union List a) 20
b) State List s b) 22
o¢) Concurrent List ; . G c) 24
d) None of theabove - : A d) 26
2. Which among the following isnota 8. Which of the following banks is the
fundamental right?- ' R $i “Central Bank” of our country?
a) Right to Equality . a) State Bank of India
b) Right to Freedom : ‘ S b) Union Bank of India
) Right to Property i ' c)- Reserve Bank of India
d) Right to Freedom of Religion ' y d) Central Bank of India
3. Which Article of the Indian Constitution 9. What s the full form of MSME?
- abolished untouchability ? . : ~ a) Medium, Small and Micro
a) Article 18 o st s Enterprises -
b) Article17 g b)  Micro , Small and Medium
c) Article 13 i Enterprises :
d) Article 14 B : . ¢) Micro, Scale and Medxum :
- 35 i o Enterprises
4. Procedure for Amendment of the ' 'd) Medium, Scale and Mlcro
constitution is described in which article of : : : Enterpnses
the Indian constitution? _ 4 At 8 : _
a) 368 ' : '10. In nominal GDP terms, what is the
b) 352 ' T current rank of Indian Economy in the
c) 360 - _ ' | , world ? ’
d) 356 gy & & a) 4™ Jargest
: ‘ : : .b) 5™ largest
5. Article 1(1) of the i Constitution | c) 6" largest -
"~ reads: ‘ , d) 7™ largest
a) India, that is Bharst, shall’ boa - ; ' . ,
" Union of States. ek 11. As per Economic Survey 2024-25,
b) India, that is Bharat, shallbea - nominal GDP of India has reached ?
federation of States. , I Fitied «a) 324.11 lakh cfore
¢) India, that is Bharat, shall be a | ~ b) 304.11 lakh crore
Quasi Federation of Statés, e ¢)' 344.11 lakh crore

d)' 2184.11 lakh crore

. d) India shall be a Union of States

12. Globally which industry contributes
maximum to greenhouse gas emission?
 -8) Power & Transport
~ <b) Industrial Combustion
- ©). Agriculture
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b) 38 also in the same ratio, ""g"lhﬁ‘tt e
¢) 40 342 tuns. Then the runs SCoreq by [;y feorg
d) 42 ‘ a) 210 re:
. by 108
36. With an average speed of 40 kw/hour, a g) 9
train reaches its destination in time . 1f it vd) 171 Al T
£0es With an average speed of 35 fmAsonr. ALA LB m§d C c‘a.nuvcfn.nplcte T work 4,
1‘1 18 late by 15 minutes. The total journey hours . It A dob'-“ b alons in 6 hour
on and B in 5 hours. how long wijj it take fm
a) 30 km : C to finish the job alone? ¢ for
D) 40 km , ) 5zlhours
Z) ’{0 km : b) 7Lhours
) 80 km , 2 :
c) 9 hours
37. The number of seats in an auditorium is d) 4%h9lur5

increased by 25%. The price of a ticket s

also increased by 12%.Then the increase in

42. The ratio of the number of boys ang girls
revenue collection will be

. , in a college is 3 : 2. If 20% of the boys gng
a) 40% 25% of the girls are adults, the percentage
b) 35% of those students who are not adults, is:
c) 45% A 58%
d) 48% ' b) 67.5%
el o) 78%
38. A person takes a loan of Rs 10, 000 partly d) 82.5%

from a bank at 8% per annum and
remaining from another bank at 10% per
annum. He pays a total interest of Rs 950
per annum. Amount of loan taken from the

43. Successive discounts of 10% and 30% are
equivalent to a single discount of ;

. a) 40%
first bank (in Rs) is: : .b) 35%
a) 2500 3 c) 38% -
b) 5200 L : d) 37%
c) 2050 - :
d) 5020 44. A car travels 432 km on 48 litres of petrol.
' How far would it 20 litres of
39, An article was sold for Rs 96. If petrol? . trav¢1 v
percentage of profit was numerically equal A) 180 km
to the cost price, the cost price of the b) 160 ke
article is 3 c) 200
a) Rs. 70 q;(_ . , d) 140 Wi
. b) Rs. 60
z) ;{{; ??)() ' #5120 me paq food provision for 200 d3¥*
): Fra EES ]Aﬂer five days, 30 men lett the place: How
e - long wil o food last?
40, Three students A, B indC plgy Cricket: ' oo e romaining food Lot
- The runs scored by Aund B regpectively ) 5y 98
are in the ratio 3:2. B's runs 1g ¢ e s 20 iy

8 to (g yuns 8r¢

) 240 gy
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46. Two pipes A and B @? fil ,.’,!f;:ﬂinhilc a
minutes and 15 minuies “"-"'wf”u ak in 20

thitd pipe ¢ can empty ¢ e yened i
minutes. Al the three PiPes © 0 lclnqc(l 6
the beginning. However: ﬁl]"’( T i ‘whﬂl
minutes before the tank je filled. 0
time will the tank be full?

a) S minutes

b} 7 minutes

<) 9 minutes

d) 11 minutes

v

3 ! " .
47. 11 5 of a pencil is black. 5 of the remaming

N .
is white and the remaining 33 ¢m 15 blue,

find the total length of the pencil.
<d) 4cm

b) 6 cm

¢) 8cm

d) 12cm

48. Find the maximum number of students
among whom 1001 pens and 910 pencils
can be distributed in such a way that each
student gets the same number of pens and
the same number of pencils?

a) 91
+b) 910

c) 1001

d) 1911

49. 20 litres of a mixture contains milk and
water in the ratio of 5 : 3. If four litres of
this mixture is replaced by four litres of
milk, then find the ratio of the milk to that
of the water in the new mixture.

a) 2:3
b) 4:3
Q) 5:3
d 7:3

50. Three years ago X's age was doyble of
Y’s. Seven years hence, the sum of their

united ages will be 83 years Tpe age of X

today is:
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ay 47 years

‘p,() 15 yeats

) ;_IF._\_-‘(‘:.!VQ

) 24 years
LOGICAL REASONINGAND
ANALY LICAL ABILLLY, GENERAL

TMENIALABILILY

S10f SEAS( ’Nf\[- is written a"-"f'ﬁf'if\:‘i()l.“\,
how cats S,;p,\;{;\'[f{ be writien in that code?
a) SF,/\PARIZT
h‘) ESPARATE
¢) ESPAARTE
o) [iSr\PAR[iT

52. A man started from a place. walked towards
North for § km, then turned 90° to his right
and walked another 5 km. Then he turned 45°
to his right and walked 2 km and turned 45" to
his left. What is his direction now?

a) South
b) South East
¢) East

,d) South West

53, Which of the given letter groups follows the
same principle on which the numbers are
arranged in the given number group?

(5, 8, 13, 20, 29]
a) ACGKR
b) ADIMS
c) ADIPY
d) ADGRO

54. From the given alternative words, select the

word which cannot be formed using the letters
of the given word.

ECCENTRICITY

a) TRINITY
o0) TRICKY
¢) ENTER

d) CENTRE

55. The day before the day before yesterday is

three days after g r A
atl d‘ r \ & ant 1o
today? irday. What day is it

&) Thursdy
ay
ELIZ-ENG-A-D
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v) Tuesday
v d) \\-’udncsdﬂy

56, Aal‘mk I8 facing East. He tums 90° in the
anhc?ock\\-isc direction and then another 180"
l‘um m the same direction, finally he turns 45°
in the clockwise direction. In which direction
1s he facing now?

a) South — West
b) East

«¢)  North - West
d) South .

(Q. 57 - 60) A family consists of six members P,
Q, _R, S, T and U, There arc two married couples,
Q 1s a doctor and is the father of T. U is the
grandfather of R and is a contractor. S is the
grandmother of T and is a housewife. There is one
doctor, one contractor, one nurse, one housewife
and-two students in the family.

57. Who is the sister of T?
a) R
by T
c) U
* d) Information insufficient

58. What is the profession of P?
a) Doctor
b) Doctor or nurse
« ¢) Nurse
d) Housewife

_ 59. Which of the following are the two married
couples?
a) US, QT
b) TS,RU
«¢) US, QP
d) US,RP

60. Which of the following is definitely a group of
male members? <1
[ a) QU
b) QUP
¢) QUT
d) UT

4 and SHIFT 18 ¥ 5

62. Ajay walke
turn and wé

GET IT ON
Google Play

e pAUSE 1s writfen

Qi" oK a

<Ly %{ b
ritten as RUGS, g, ‘f Mgy,
citten in the same coi Wil

d2m towards east, togk 5 itk
tked 7m. He llfcn took a Jefy .fur
and walked 5m before taking a left turn andn
walking 7 m- He then took . final right turp
and walked 1m before S1OPPIng. How, fr g
Ajay from the starting point?
" a) 8 metres
p) 7 metres
.C) 6 metres
d) 5 metres

63. If Saturday falls on the 4™ January, 1997, what

day of the week will fall on the 4™ January,
19987

a) Monday

b) Friday

¢ Wednesday

d) Sunday

64. If ‘1" is subtracted from each even digit and

“2” is added to each odd digit in the number
463852, how many digits will be repeated in-
the new number thus formed?
a) None
b) One
.¢) Two
- d) Three

65. Trupti correctly remembers that the last time

she went on leave was before the 16" but after
the 11%. Sameer correctly remembers that the
last time Trupti went on leave was after the
13% but before the eighteenth. On which day
of the month did Trupti definitely go on Jeave?

a) 131!1

b) 14

g) 1 5th

d) Either 14" or 15

(Q. 66 - 67) Kiran walks 20 m north, he wm
ng?t and walks 30m. Then he turns right &
Walks 35m, Thep he turns left and walks am
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: agdin tUINS
then he turns lefl and walks 15m. He agd
left ang walks 15 m.

: : pint?
66. How far Kiran is from his st/ine po

1) 25m
b) 15m
¢) 45m
_ d) 30m
07. Which direction is Kiran fac
a) East
b) West
*t) North
d) South

ing now?

68. How many times the hands of the clock meet
in a day?

a) 22

b) 21

c): 2

) 24 :

(Q. 69-70) These questions are based on the

following information.

P.+ Q means P is brother of Q.
P — Q means P is wife of Q.
P X Q means P is father of Q.

P + Q means P is daughter of Q.

69. Which of the following expression shows that

T is mother of L?
‘a) T-H+L
ob) T-HXL
¢) T+HXL
d) T+H+L

70. In F + M x.V + R, what is the relation of V
with F?

a) Daughter

b) Son

¢) Niece

d) Uncle

L

COMPUTER/INTERNET AWARENESS

71. What is the full form ot CPU?
~a) Computer Processing Uni
. b) Computer Principle Unit -+~
- ') Central Processing Unit .~
© . "d) Control Processing Unit

oA
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72. Which of the following unit 15 responsible for
ata received from the user into

converting the d : :
ormat?

4 computer understandable f
4) Output Unit
b) Input Unit

¢) Memory Unit
d) Arithmetic & Loglc Unit

73. What does USB stand for?
a) Universal Signal Board
b) Universal Signal Bus
,¢) Universal Serial Bus
d) Universal Serial Board

74. A computer . is a malicious code
which self-replicates by copying itself to

other programs.
a) program
b) virus
¢) application.
. d) worm

75. Shortcut key for “Subscript” is
a) Ctrl + Shift +—
b) Cirl + Shift +=
c) Cul+=
d) Ctrl+-

76. Any system that uses the HTTP protocol is
called ? '
a) Web Browser
b) Web Server
c) WWw
,d) TCP/IP

77. }?Vhlch one of the following is known as
Permanent Memory’?
*a) RAM
b) ROM
c) Cache
d) Registers

78. A place that
.~ tat an user can create to store
files is: in cre ‘t_° to store

a) Clll'S()r
-b) Folder
¢) Boot
d) Text
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79. The h

ardware in which data may
for —

A computer system is called:
a) Repisters
b) Chip

“¢) Memory
d) Control unit

be stored

30. The ALLU performs
<) Algorithm based
b) Logarithm based
«¢) Logic
d) ASCH

operations,

81. The smallest uni
a) Byte
<) Bit
¢) Nibble
d) Bug

t of storage is:

82. CD-ROM drive is used:
a) To play music
b) To install software
rc) To play compact disc
d) To control virus

83. To protect yourself from computer hacker, you
should turn on:

a) Google chrome

b) Script

«¢) * Firewall

d) AUP

84. Which of the following controls the manner of
interaction between the user and the operating
system?
. @) User Interface
b) Screensaver
c¢) Platform
d) Language Translator

85. Which file format is a method of encoding
pictures on a computer?
a) FTP
+ b) JPEG
¢) URL
d) HTML

86.Zipisa
a) System
b) Combo
¢) Executable
d) Compressed

file.
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the computer, which, of th,

- " uﬂ : g
87. lo rest “biua“()n (nkay IS llSc(l"

lowing cOT

b) Backspac
- ¢) Insert® [’Sf
d) Ctrl+ Alt

48, Malware is used to:

. ter operation
sru tcomp'u . .
¢ a)) g:;thc;: sensitive 1.nformatmn
¢) Gain access 10 private computer Systems
d) All of the above

89. RAM is also called:

* a) Volatile memory
b) Non — Volatile memory
¢) Permanent Memory

. d) Bothaandc

90. Microsoft Word is an example of
*a) An operating systf:m
b) A processing device
¢) An application software
d) An input device

CURRENT EVENTS OF_NATIONAL/
INTERNATIOANAL IMPORTANCE

91. Where were 38™ National Games held in
Jan/Feb 20242

1a) Jammu & Kashmir
b) Uttarakhand
¢) Meghalaya
~d) Himachal Pradesh

92. Who was sworn in as Chief Minister of Delhi
in Feb 20252
a) Shri Arvind Kejriwal
b) Ms. Rekha Gupta
¢) Ms. Atishi Marlena

d) Shri Parvesh Sahib Singh Verma

93. Who is the current Chief J ustice of India?
a) Justice SriD.Y Chandrachud
b) Justice Sri Sanjiv Khanna
¢) Justice SriN.V, Ramana
- d) Justice Sri U.U Lalit
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)4 W hat is the Per ( m"nl a fict ;nl‘""
n 200 4. 28, as ‘“r(hc ()dl‘)
\llnc\ 2024.25?
a) T 83,462
b) T 98,005
© ) T1,25,946
d) ¥ 1,82,548 our nations
95. Which among the followit g hampions
could not reach semi final ! n February
Trophy (Cricket) conduct® )
March, 2025 ?
- a) Pakistan .
b) India .
¢) South Africa’
- d) Australia

96. To which city is Indonesia relocating its
capital from Jakarta ?
a) Medan
b) Nusantara
¢) Yogyakarta
d) Kota Ambon

97. Emir of Qatar visited India in February 2024
and held talks with the Prime Minister of
India. Name the Emir of Qatar?

« a) Sheikh Tamim bin Hamad Al Thani
b) Hamad bin Khalifa Al Thani
¢) Ahmad bin Ali Al Thani
d) Ali bin Abdullah Al Thani

98. Shyam Benegal died in December, 2024. In
which field did he pnmanly distinguish
himself ? _

a) Literature

b) Dance

¢) Film Making
d) Music

. 99. Who has been appotnted Chalrm
in December, 2024 ? . OfNH,RC

a) Justice Sri Arun Mishra

b) Justice Sri DY, cp,
tc) Justice SriV, “ndrachyq

d) Justice Sri U, |y, ila;“bl'amaman

100, Which country be«.ame the fir

irs
“enact a law for mcnslmal leaye i ;““"’Pe fo:

_-'a) Spain ?

‘,bb) Uk
et o) ey
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